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1.1 Overview
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1.2 Bugs
* Blocker(7)

Add an end condition to this loop. (False Alarms)

src/AlarmMode. java

Add an end condition to this loop. Why is this an issue?
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alarmChecker = new Thread(new Runnable() {
@iverride
publ:: void run() {

try 1
Thread.sleep(6€08) ;

} eatch (InterruptedException e) {

e.printStackTrace();
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if(checkRingAlarmExist()){

try {
Thread.sleep(60000) ;

} catch (InterruptedException e) {

e.printStackTrace();
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' Add an end condition to this loop. Why is this an issue?
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alarmChecker.start();
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Use "Thread.currentThread().getContextClassLoader()" instead. \Why is this an issue?
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e Major(13)

Either re-interrupt this method or rethrow the "InterruptedException”. (11)

Either re-interrupt this method or rethrow the “InterruptedException”. \why is this an issue? 4 hours ago v L80 S
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@Test public void buzzerMultifulRingTest()

Buzzer buzzer = new Buzzer();
buzzer.OnBuzzer();
try {

Thread.sleep(15000) ;

Either re-interrupt this method or rethrow the "InterruptedException™. Why is this an issue? 4 hours ago + L80 %
¥¥ Bug v Major + (O Open ¥ Not assigned = 15min effort Comment W cwe, error-handling, multi-threading «

e.printStackTrace();
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buzzer.OnBuzzer();
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Unused field: Alarm.ringTime (1)

Alarm Class 2| ring Time ZE & AFEL|X| AU Z AMK|

new Buzzer() invokes Thread.start() (1)
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1.2 Vulnerability

* Minor (29)

Use a logger to log this exception.

bl

- Throwable.printStackTrace & &%t HEE S8

Logger & AFESH|E HESE UE.

Explicitly declare the visibility for "hour"
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Make this "public static instance” field final

public class TimeManager {

public static TimeManager instance = null;

field Off CHoH

Make this "public static instance" field final \why is this an issue?
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1.4 Code smell

e Blocker (29)
Add or update the header of this file.
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Move this "start” call to another method.
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Critical(56)

Missing curly brace.
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1.5 Code Coverage

1. Coverage
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2. TestPass rate

<default package>




- Test Pass Rate : 100.0%



